4 FREI0FERARNR

(1) —fE&st
(Bf:-B5AH)
% A % H
& = FEIRE (A)|UINAFKEE B)| (B)/(A) %) |FERLE (%) ® = FHIREE (C)|ZHEEE (D)| (D)/(C) (%) | ¥ERLE (%)
1M i) 5,895 5,957 101.1 28.0 1 & = & 205 202 98.5 1.0
2 A E B 170 187 110.0 0.9 2 # % & 2,682 2,494 93.0 122
3 F B X M £ 7 8 1143 0.0 I R 4 & 6,131 6,035 98.4 29.5
48 & B X fF £ 20 18 90.0 0.1 4 & 4 =y 2,497 2,349 94.1 1.5
5 AEHEMBIXfFE 9 15 166.7 0.1 SEMKEXE 1,993 1,800 90.3 8.8
6ihAFEHERIMTE 761 787 103.4 3.7 6 75 T b=y 389 372 95.6 1.8
TILISFARKMGE 6 6 100.0 0.0 7 VN g 2,919 2,365 81.0 11.6
SEHEBERFHRI & 40 52 130.0 0.3 8 H ;] =1 853 822 96.4 40
oMth A 4 il X F & 26 26 100.0 0.1 9 # B =1 2,511 1,861 74.1 9.1
no#H H X F & 3,552 3,593 101.2 169 (10 £ #& 1B & 2 2 100.0 0.0
1 XELRERNEHFNXfF2 3 3 100.0 00| [11 & & = 1,752 1,751 99.9 8.6
2a#EERUVAEES 66 68 103.0 03| |12 8 X H = 385 384 99.7 1.9
BEAHRERTF HH 416 427 102.6 20| [13 % 3 = 22 0 0.0 0.0
WE E X H =% 2,865 2,505 87.4 11.8
15 & * s & 1,344 1,130 84.1 5.3
16 Bt B I A 36 38 105.6 0.2
17 & b & 150 149 99.3 0.7
18 #& A & 2,548 2474 97.1 11.6
19 #2 i & 1,320 1,321 100.1 6.2
20 I A 534 554 103.7 2.6
21 ™ & 2,573 1,956 76.0 9.2
m A & &t 22,341 21,274 95.2 100.0 m A& & 22,341 20,437 91.5 100.0
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(2) HmHBEDOAR (3) —REFERIRRRKR (B5R)
(B ®AM) (B BAM)
1 B FEREN | REHEe |BARe/we| #EHRLE© g % & B R OB % =)
1 ™M K i 2,630 2,667 101.4 448 1 A s g 2,702 13.2
2B FE B E M 2,625 2,642 100.6 44 4 2 ¥ % Z 2512 12.3
3B B 8 B & 128 128 100.0 2.1 J M ¥ @ o B 262 1.3
4 W = I 2 328 335 102.1 5.6 4 ® B Z 3,687 18.0
5 A i i 22 22 100.0 04 5 # B & % 1,810 8.8
6 # ™ & H & 162 163 100.6 2.7 6/ B B 8 B 4,759 23.3
&5t (1~6) 5,895 5,957 101.1 100.0 (1) EEEZEXE 4,757 23.3
X BERBERKSR 928 104.4 100.0 @ @ B 2,725 13.3
Q@ B ¥ 1,985 9.7
O mHENEIBER VMK HEE (B4 FH) ®F O i 47 0.2
FER1AZYOMHRAIEEE 141 (2 KEEIBEXE 2 0.0
—iHHELHYOTHEEEE 352 /N & g 1,751 8.6
FERIAZBYDE B Z HEE 485 8 & hva & 384 1.9
—iHEHYDI B HEE 1,209 9 H = & 80 04
10 8 1+t i 308 1.5
O EREFRFERGDEIEER VX HE (B FH) 11 # i £ 2,182 10.7
HREREIAZVOERRAIEE 96 & Hi 20,437 100.0
—iHELSYDOERREIEEE 148
WREEIALBYDOXZ AR 517 (4) HRLE
—iHHHY D HER 794 (B -FHHH)
= B 2 FHBRHENA) | BAREHEB)| S HRELEC) | RAEB)/(A) | $11TEC)/(A)
ERBEBEGRKESE X 5,370 5,066 4,994 94.3 93.0
XK B ¥ & B 7 7 7 100.0 100.0
N H T KEF X 630 624 606 99.0 96.2
BEEZEHEKE X 56 58 52 103.6 92.9
t E R KR B X 4118 4170 4,027 101.3 97.8
B EEEER 481 479 475 99.6 98.8
=] Hi 10,662 10,404 10,161 97.6 95.3




(6) NEEXEF

OFMI0FEMRFKR (- mEAE) OFRS0FEDEEKR (B4 BHHM)

E % KEEE | Taur | FAREZ| # E % KEEE | Taun | FREE | E
g X I # 1,040 137 2,764 3,941 2 X I # 964 127 2,754 3,845
Wle = 5 ax 2 181 12 499 692 Wla o oaoaw % 113 12 500 625
R Al B M & 0 0 0 ol [Bzx|% B # & 0 0 0 0
% Hi 1,221 149 3,263 4633 | 2% &t (a) 1,077 139 3,254 4,470
2 X & A 866 179 3,301 4,346 5t 2 X & H 838 171 3,243 4,252
miﬁiﬂﬁﬁﬁ 59 9 67 15| | |E|®m 2 4 B A 59 8 132 199
wle B o\ % 0 0 21 1 [Flple o B % 0 0 21 21
Hi 925 188 3,389 4502 |= it (b) 897 179 3,396 4,472
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g = fﬁ n 1; 1'063 g 2; 1’083 LERGEF 3R (a) — (b) 180 A 40 A 142 A2
Iz —RRHEES 7 0 3 10 - B T & &E 8,936 832 6,289 16,057
) T 688 % 27 0 0 27 ElR B A E 927 299 681 1,907
ﬁkﬂﬁ%%*ﬁﬁi}ﬁ 0 0 117 117 ﬁg?g%i E OB OE 0 0 0 0
* EEEETHNE 0 0 9 o |z &t 9,863 1,131 6,970 17,964
&t 1,102 0 150 1,252 st | B E & & 4317 354 4,004 8,675
8 B & ®REA 1,575 12 37 1,624 sl B & & 295 30 680 1,005
FEEBEHEES 181 40 219 aa0| | BB MEN N 1,443 179 2,039 3,661
—REARFE 0 0 0 of |&R|x|%E PN & 3,106 352 3,026 6,484
=l PP S 0 0 10 10 g% 3 5 @ 702 216| A 2779] A 1861
&t 1,756 52 266 2,074 5 9,863 1,131 6,970 17,964




